QUESTION BOOKLET

This question paper contains 170 questions. /SH T T H 170 T £ |
All questions are compulsory. / g4t ¥¥7 31fam £ | |
One question carries half mark only. / T ¥4 % 70 Shaet aman 3+ 8 |

Maximum Marks : 85 aTfreran 31 : 85
Time : 2 Hours - TR : 2 90
1. Rice cultivation is associated with Harappan site of
(A) Kalibangan (B) Harappa (C) Ropar (D) Lothal
e ! Gl 39 §SH T § a3
(A) FEfEH  (B) g (C) Uve (D) @I
2.  The Vedic Diety Indra was the god of
(A) Wind ~ (B) Etemity o
(C) Rain & Thunder - (D) Fire =
ElECEC RS ACOIR I
(A) T= (B) | 9%eilsh | (D) A
3. A well known patron oﬁﬁg ‘Mahayan dhism was
(A) Ajatashatru (B) B;mblsara (D) Kanishka
I HEHM & (g
(A) I=mayg  (B) CleiEE (D) Wi
4.  The most important kmgdom in Deccatl and central India after the Mauryas
was the
(A) Cholas :#.(TB) Satavahanas (C) Vakatakas (D) Pallavas-
Hil & ETE qarh ST LT WG 1 'Tsﬁﬂ;?f HHTa 41
: th 1
(A) T B Wuﬁr ©a=rs | (D) vowE
'§,  Which Delhi Sultan called himself ‘Naib-i-Khudai’ ?
~ (A) Ibrahim Lodhi (B) Alauddin Khilji
(C) Iltutmish (D) Balban
T el & oa™ 3 31U STIH! THE-U-TeTs HaT ?
(A) FEHAG (B) HFcsed faewsit (C) Wﬁq (D) sot&q
6.  The last ruler of Sunga dynasty was

(A) Devabhuti (B) Bhaga ~(C) Vasudeva (D) Brihadratha

7 U 1 HATH TS AT

(A) Tfa (B) W C) agem (D) T&H
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7. Bahmani kingdom was founded by (D) Malik Kafur

(A) Hason (B) Zain-uI-Ain-Ic_lgin (C) Timur
FEA! WY T TATYAT 7 gI0 1 773 off fT FIH
(A) &&= (B) S-3-3redH (C) oL D) .
' 1 S€ !
8.  Which Mughal emperor died due to a sudden fall f.rom theDS;a“er angzeb
(A) Babar (B) Humayun (C) Jahangir  (

T gt TeuTe i ooy iR @ s P A gg ot ? .
(A) =T B) ¥ (©) e (D) 3N

9, Taxila was a famous site of

gA) Early Vedic Art EB) Gandhara Art
C) Mauryan Art D) Gupta Art
agfReT U wftg T o
(A) W= e wen (B) YR el
(C) HRihTefi e (D) W e
10.  Purana Qila was constructed during the reign of
(A) Humayun (B) Akbar (C) Jahangir (D) Shershah
g1 feett 1 famior 3996 e | gan

(A) 4 (B) 3@ (C) e (D) IR

11. ‘Shahnama’ was written by
(A) Alberuni (B) Firdausi (C) Amir Khusro (D) Abul Fazal

V& §9 gR feradt 7 off |
(A) JeEet  (B) fmed (C) FRGEN (D) et Bl

12.  The trousers were introduced in Indian dress by

(A) Turks ~ (B) Aryans  (C) Greeks D) Kush
WRE T TRYT o el o R Smfde Y 18 * () Kys ans
(A) T (B) I (©) (D) Fumr

13.  Adil Shahi is associated with |
(A) Golconda  (B) ‘Ahmadnagar (C) Bijapur (D) None of these

e et Hafea 8

(A) MeFed®  (B) IEFRA (C) doRy (D) T & = 7
14.  Sher Shah died while)ﬁglléti;xg in ' /

(A) Chausa (B) Kalinga  (C) Kalinjar (D) N

mfﬁq@qﬁgz'ﬂﬁgqgg | ( ‘) one of these
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15,

- 21,

- Brahmo Samaj mainly 1ns1sted upon

(A) Abolition of Sati | . (B)  Abolition of child mamage
(C) Monotheism (D) None of these
STRI T 3 g %qqtaaﬁm o ?
(A) &t worm =g (B) WﬁETEB?{GF[ R
| (C) TehwaraTtea | - (D) FHIBE T |
16. Who is the authot of the concept of Antyodaya ? | |
(A) Mahatma Gandhi | (B) Vinoba Bhave
(C) Sri Aurobindo | ' (D) - Jayaprakash Narayan
o R T w2 S
~ ) wEEnTmH  (B) fReyR (C) SRR (D) SEWHR AREw
~17. 'Who was the first European to. translate the Bhagwad Gita into English ?
: (A) William Jones : (B) Charles Wilkins
(C) James Prinsep -~ (D) Sir Alexander Cunnmgham
s i R e i o 3iish § sarg fear o
_(A)ﬁx'%ma‘m | (B)awa‘ﬁ?wrm_' ﬁ%’]
() SR (D) WSS R
18.  Who founded the Indian National Sogial Congress in 1887 7 _
(A) -A.0.Hume (B) G.K. Gokhale (C) B.G. Tilak (D) M.G. Ranade
RET 1887ﬁwmmmﬁwﬁ‘?
(A wILEE (B) SLE.M@EA (C) aﬁsﬁﬁ?ﬁ (D) qqsﬁrﬁn%
19. Mahatma Gandhi started his Dandi March from
(A) Dandi _ o (B). Porbandar o
(C) Ahmedabad : (D) Sabarmatl Ashram s
wgrmmtﬁﬁaﬁm%frﬁsﬁa:rmﬁ B T e
A& - (B) W (©) sz (D) R s
:20.  'Who was the Viceroy of India at the time of Quit India Movement ?
" (A) . Lord Mountbatten - (B) Lord Wavell
(C) Lord Linlithgow . g (D) Lord: Wellmgton
Wmm@m%ww%maﬁqé
(A) A AREede (B) @A (C) %W(D) Hl'é%ﬁ"!‘m
- The Constitution of India was adopted by the- ,
(A) Governor General ~ (B). British Parhament
(C) Constituent Assembly . (D) Parhament of Indla
wﬁrqﬁmwﬂﬁmwm Lorr e
(A) TERIRAGA - (B) %ﬁmmm
(C) aﬁaﬁwm L (D) ¥RdIEEEG gR
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22. Inafederation the source of power for the unit states is

(A) Electrorate (B) Constitution |
(C) Federal Court (D) Federal Legislature
HETE H Toheh T} 3 for ik dad

W TR @) WRuR (O waemen (D) W R
23. InIndian Constitution, there is no provision for |
(A) -Religious Rights (B) Educational Rights

(C) Political and Social Rights (D) Economic Rights.
icipk:iceick: SN A lCa R IR R

(A) ufis st (B) fRem bt 3ferpR
(C) Towhfves T wrEe SRR (D) -1 AR

24. The Union Territories get representation in

(A) LokSabha - -~ . (B) RajyaSabha
(C) Both(A)and (B) - (D) None of these

. hesEIiYE Yeut ! Aot e & |
(A) @mEmd - - (B) TEWH
© W@IR@B) (D) FHARETE

25. Whatis the minimum age for appointment as a Governor ? |
(A) 25 years . (B) 30 years (C) 35 years (D) 40 years
- W%ﬁtmﬁgﬁﬁ%mw IR
(A) 259§ (B) 30 ™ (C) 35 o '(D) 40 aﬁ

.26. The maximum duratlon for which the V1ce-Pres1dent may ofﬁmate as the
' President is

(A) 4 months | B) 6 months (C) 9 months ' (D) 1year
e g T 3 g 39 Wmmﬁmwmmm%

“(A) 4R - (B) 6WmE | (C) ouE - (D) 13‘*

'27.  Who has the const1tut10na1 authority to decide tax share of States ?
©(A) Flnance Commission- - (B) Finance Minister -
© “NITI Aayog (D) None of these

e 35 3 P P T e s e 2 7 |
(A) RaamEm @) fEw - (© NITIamﬁn (D) 3@%#\3‘:@

o p—
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28.

29.

30.

31.

32.

33.

34.

P ey

After retirement, a judge of a High Court can undertake practice in
(A) the same court. '

(B) lower courts only.

(C) any other court except the same court.

(D) wherever he intends to practice.

& I T 1 A a1-Fght & vear Meew o awa @

(A) I 3rererd |

(B) fuk fraeh s o EE
(C) 3u rgrera & fafies fopdt oft argrera o | Ef.%
(D) =& &l oft fFem w=m |

The Indian Constitution provides how many methods of amendment ?

(A) One ~(B) Two (C) Three (D) More than three
et aferam 3 geies & fras afel ST aEuE € 7

(A) T (B) @ (C) @ (D) 7 &=
In which State was the Panchayati Raj first introduced ?

(A) Rajasthan  (B) Gujarat (C) U.P. (D) Bihar
v U9 oW R fRa aea & e faea man ¢

(A) TSEU™ (B) 7@ (C) 7. (D) TR

Who was the first President of India ?

(A) J.L.Nehru (B) Dr. B.R. Ambedkar

(C) Dr. Rajendra Prasad (D) Dr. S. Radhakrishnan

WRE & YW qpafa a2 7

(A) I.TH. TEE (B) . #.3m. g

(C) . T TE1] (D) . . TUTHFWH

Indian Constitution recognizes minorities on the basis of

(A) Religion (B) Caste (C) Population (D) Colour
W G SeTEET®! I fhE TR W wT=ar a1 8 7

(A) wH (B) wfd (C) wwa@m (D)

The State’s Reorganisation Act was passed in which year ?

Y 1 Yied ittt fha e & uifta foam a2

(A) 1952 (B) 1956 (C) 1961 (D) 1966
National Security Council is headed by the

(A) Prime Minister (B) President

(C) Vice-President (D) None of these

Tt e TRG i ST DI FE ?

— —— — —— —

(A) T (B) Tl () sa-Tgafi (D) FHABETH
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i : i lebrated on &R
5. Golden Jubilee of Parliament of India was celeb May 18,
’ (A) May 13,2002(B) May8,2002 (C) April 26,2002 (D)
YT g 6 @ity saft garf 73 of — |8 7, 2002
(A) 137,2002 (B) 8wf 2002 (C) 2630,

: terised as
36, The type of unemployment mostly fou(ncc:i] inéndligc;im be ((:]I:I)E;IHCD ;:sguised
A) Structural B) Frictional ycli :
Sm%rﬁa:rﬁmatm(%ﬁwnﬂmm _ %iﬁtmmﬁmmmg |
(A) ¥=T® (B) wemeEs - (C) ETm‘:FTI ( )? SRl
37.  Which is the best measure of economic growth of a country
(A) GNP (B) GDP (C) Net Revenue (D) None of these

foet Tn it anfiss afg w A ads T MR 7
(A) Shwadt.  (B) fdd (C) TETwE (D) T8 & Hig T8

38. The income tax in India is

indi ' i rtional
(C) Drect and abrogressive (D) indiros sl sEsmorional
TG § 3T B '
(A) g sitsfefier 0 (B) o e
(C) wege 3R wfersfier (D) 3t 3R amuIfash

39. When was the decimal system of currency introduced in India ?

W H 51 i IR TOTRl e @ T 7

(A) 1947  (B) 1950 (C) 1951 (D) -1957
40. C}fen Market Operations of a Central Bank are sale and purchase of

{ ; Foreign currencies EB% Corporate securities

C) Trade bills ” D) Govemment securities

U HEAR] sk <h) e TR Sfma ERRCACr a8

(A) foreft g - (B) frm whngfrat

(C) = fm (D) T wRrgfrat
41. National Development Council was set-up in which year ?

T o it <6t v v o g oft 7

(A) 1950 (B) 1951 €) 1952 (D) 1956
42. A rolling plan is a plan for

- (A) one year E[B))) three years

C) five years on year to ye i

gm)m;mm%aﬁaﬁ%ﬁ‘m@?ﬁ%? PR yenratie

(A) 13§ | - (B) d=a

(C) wiwa . (D) =g ad anuig
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43,

44.

Economlc planning refers to

- gA) the planning of manpower. %B% the mobilization of taxes.
C) . the allocation of resources. - None of these

JTiRfe fAaem gefifa @

- (A) mwﬁsﬁzﬂm% (B) HUHEEAY
(C) THTHAT &1 AW A © (D) T AHEAH
Which of the following industries was started first in India ?
(A) Cotton (B) Paper - (C) Tea = (D) Jute
WA & 370 @ S |1 3TN g9 Tae IE g7 7
(A) wUE (B) =< (C) = - (D) ¢

| 45,
46.
.
48,

.

50.

The Asian Development Bank has its headquarters in |
(A) Manila (B) Kuala Lumpur, (C) Tokyo (D) Colombo

. R R §% w5 e

(A) Tt (B) ?ﬁamug (c) —a—qrq} '-,(D) Frea
Which planet is nearest to the earth ? _

(A) Jupiter (B) Venus - (C) Mercury = (D) Mars
ﬁqmugq‘eaﬁ%aaﬁﬁ'ﬂ% ? | e |
o ediExamSh O
The word used to'd é@am I |
(A) Flat (B) Circle: (C) Sphere - (D) Oblate spheroid
qedt % AT 0 & U TR |
@A=wE@m @B T™.  (© ﬁamt | (D).mrham
The difference between IST and GMT i is . ' .

2 hours B) 4 hours 30 minutes
EC% 5 hours 30 minutes -~ = gD% 6 hours B

_'ISTaﬁtGMTasmm% |
A) 28R (B) 452 30 fire (C) 552 30 fr e (D) 66

Which is known as ‘Anti-trade winds’ ?
(A) Chinook  (B) Cyclones - (C) Typhoons (D) Westerlies

58 “aff—earaTie Ja’ & TH 8 T A1 2 2

(@) R B T (O) T ) q@a’faaﬁ

Rocks, whlch are formed by the solidification of lava, are
(A) Sandstone  (B) Limestone (C) Granite (D) Basalt

 ggm, ST o R gRI St %

(4) TR (B) WowR () e (D) W
2 9 T Code No. : C-732/2021/Series-A



51,

52,

S3..

54,

- 58,

- 57.

58.

" (A) Cape Town (B) Hobart

" (A) ¥
- 56,

(A) Indones1a
PRI A TR 7

The young alluvium of the ﬂood plains is called

(A) Khaddar  (B) Floe (C) Bhandar
R ACH A TAGH FEAE
(A) EEX (B) %ﬂ‘ﬁﬁ (C) T

Which is not a Tundra type of vegetatlon ?

(A) Sedges (B) Steppes (C) Mosses
T g TR et T R 7
(A) & ®) wfm  (C) #H

In which country would one find the Yak ?

(A) Nepal (B) New Zealand (C) Siberia
e dgmammasama ?
.(A)alqm ) ®) wgﬁﬂvs | (C) msé’&m
‘The only Hindu state in the world is
(A) SriLanka  (B) Nepal (C) Sumatra
i migmgs
" (A) e (B) ﬁuna !

-The capital of Tasmanla 18

[GlERIEIRIEDICi R
- (B) aﬁiné

Wh1ch of the followmg is. the deepest lake ?
(A) Victoria

TP H o et g o

» (A) fRiffmr B)- %@mw ©) grﬂf@x
‘Whlch is not a root plant?

(A) Carrot -  (B) Coffee (C)‘ Turnip
aﬁqm@@-ﬂﬂmqﬁ%" | L
(A) ™R (B) FH - (C) wom

Which country is richin 0il ? . - .'
(B) . Pakistan

@ sﬁﬁm ®) v

| (C)_w_
; © Mohtcvi;leo
(O wRfR

(B) -Caspian Sea (C) Supenor

(9)) Singapore

(© fimw R

(D) None of these

(D) FHARRT
(D) Lichens |

'(D)Ffrs#f'

(D) Bhutan

(D) W

(D)’ Wellington

(D) afeied

- (D) Baikal -

D) ¥

" ©) Swest Potto

©) W
@) :Flllailand 'l

. (D) s



59,

60.
61.
: 62.
63.
64.

 65.

Lunar eclipse takes place on
(A) .anew moon
©) Both (A) and (B)

(B) a full moon
(D) None of these

(A) e - (B) T
(©) 3 (A) M ®B)

The river Cauvery originates from which Indian state 7

(A) Andhra Pradesh (B) Tamil Nadu
(C) Karnataka (D) Madhya Pradesh

H 7€ F1 3T 6 T A 7

(a) s (®) ey (©) Few D) IIE’UI'?(?I
Which is an inland drainage area? -~ |

(A) Sambhararea - - (B) Chllka region %
(C) Mansarovar lake . (D) Rann of Kutch

S AT am%&sﬂa FAfmE eI e 7.

(A) mWET - (B) foreap &1 (© :rmaﬁatgﬁa D) Wﬂm
“The climate of India is of whlch type ?2

(A) Savanna . - (B) .Temperate
~ (C) - Tropical monsoonal (D) Medlterranean
mﬁtﬁrﬂgﬁamﬁ% A -
A) ®T ”mww_
- © Jwpfesf AFE (D)Wnﬁﬂ
The Kakarapa prOJect is on wh;ch nver ? “ | A
~ (A) Narmada  (B) Kosi. = (C) Mahanad1 ,-(D) Tapi
FTHUIR TS fhe T W Ry 7 .
(A) T @ﬁﬁA(mmw'a»m
Which is not a Kharif crop? S ‘
(A) Maize (B) Barley  (C) Jowar (D) Cotton
B KRR crin A T A ) Coton
W= @ F  ©ww (D) =W
The occurrénce of mica is-associated with | . o
 (A) Pama’  (B) Kolar (C) Koderma (D) Khetri

| (A)"_‘il'-—.—IT@f .."'i(B) FERF () HEWH (D),@-a_:ﬁﬁg'"



66.

67.

68.

Vocalist Rahmat Khan belongs to

A) Rampur Gharana B) Kirana Gharana

- EC) Gwalior Gharana | §D) Agra Gharana
(A) TR (B) fRrmewmn (C) =ifeEaEn (D) S
&d)ay‘%li%gl!(ar Be {]aBI;l()]i’sainter (C) Dancer (D) Perucer |
(A) dTH ®) feeR. () % (D)

Who is called the Flying Sikh of India ?

- (A) Mohinder 'Sinl% o B)_ Ajit Pal Singh
(C) Joginder Sing

D) . Milkha Singh
fora W =1 I Riew wEr ST R ?

(A) Mwfir B) sRTEREQC) SR (D) e e

69.

Saraswati Samman is given annually for outstanding contribution to_ -
(A) Literature  (B) Education (C) Finearts (D) Classical music

it kR Tt w2 i frfdre e 3 for g o €

@A) R B) R (©) wfe@wen (D) WRiEEfa

70.
1.

72,

3.

74.

The Asian _QémES are organised after every
R Wl 1 3REeE Ta%  IYEIT Bl § | T
(A) 3 yea_rs/a'ﬁf (B) 4 years/@¥ (C) 5 years/as (D) 6 years/a¥

The Nobel P}'i;e was first a_warded_ in Economic Sciences in -
nfich forml & ee TEER gy AR e e o
-~ (A) 1958 (B) 1969 ,_;"(C) 1972~ (D) 1976 =

Champion Trophy is associated with

.(A) Football . =~ (B) Hockey  (C) Cricket (D) Cheég
(A) TEwE (B) TRE () RRE (D) W

Which term is associated with Chess ? S
(A) Gambit (B)- Deuce - (C) Vulnerable (D) Pitcher

S T I76¢ I & TR B 7

@A ® W O Tww @) fe

. ‘Who wrote the book ‘Gandhi and Stalin’ ?°

A) Rajmohan Gandhi . %B_). Nelsgn Mandel_a
gC) Louis Fisher . - - (D) Martin Luther

‘ﬁmmw’%a@#a?* | i
(4) TR TR (B) M () gafew (D) Wi




K The famous Meenakshi temple is in

(é} In['i‘l:l N';_:dt:j :B; West Bengal
ndhra Pradesh D) Maharashtra
!ﬁﬁzﬁlmﬁwﬁtﬁuaﬁ

(A) afierrg () WfRmETR () WM (D) WEWE
7. Navy Day is observed on

(A) Dec. 4 (B) Oct. 28 (C) Nov.7 (D) Nov. 14
8 Ream gamn s

(A) afeemm (B) 28 g (C) 7 e D) 147a==
7. Kalharldlcali‘is a folk dance of

anipur  (B) Odisha C) Keral Kamataka
mﬁg is (C) Kerala (D)
(A) wfrg (B) 3ifewm (C) &@ (D) walzs
78 Dunkel proposal deals with

A) Disarmameni B) Kashmir problem
C) GATT {D; Nuclear Agreement ﬁ

(A) Rweew B) svwwmn (€) GATT (D) wwTo] WSt
79. Van Mahotsav was started by

A) Maharshi Karve BG.Tilk
gﬁ#%ﬁ#ﬂ*ﬁmmm g; ok g -

(A) mefiwd  (B) WA few (C) S A (D) s

Sﬂ. The first month of Saka year is -
- (A) Chaitra (B) Vaisakh (C) Jyeshtha (D) Paush
W% ¥ 1 W AT I g f

A) ¥, ® %@ W . @t
ich i important for the growth of children upto the age of 14 years ?
- Xt)u cgr:fmn;:nm (B) tvoirmmifo (C) Fat (D) Milk
14 = T et Y i % G H & W A - s § 7
(A) ¥R (B) ffm (O wm (D) ™
[ . ] . b -
“ (B;l)e lé:ﬁcmy (B) Liver ~ (C) Pancreas | (D) Lungs
- forer wnfer gren &

4 | HHE! g
e g (B) THATW  (C) w=mR R (D)
(A) 13 Code No. C-732/2021/Serles-A




83.

84.

8S.

86.

87.

88.

89.

90.

Code No. : C-732/2021/Series-A

(A) JEHIH

Insufficient blood supply in human body is referred as
(A) Ischaemia - (B) Hypermia (C) Haemostasia (D) Haemorrhage

e SR A A A ot oy i Eehfa et 2 |
(A) ®nf-armal (B) dfowaar (C) Wawwew (D) W@

The blood vessel which carries oxygenated blood to the liver is

(A) Coronary Artery - (B) Pulmonary Artery
(C) Carotid Artery (D) Hepatic Artery
TE T SR S AT ISRTh T ol Iohd deh U &

(A) T-wl (B) FEE (C) Marewht (D) I gHEA

Which organ is the alternate term for womb ?

(A) Uterus (B) Ureter (C) Vulva (D) None of these
A * U gEu TSR g ? | |

(A) ™RE (B) TERA (C) wm (D) ¥ & ¥ T

How many pairs of ribs are there in human body ?

e TR H vafer & fraa IR B 7 |

(A) 13 B) 11 (C) 12 (D) 14

Who discovered insulin ?
(A) AF.Bating (B) Edward Jenner (C) Ronald Ross (D) None of these

i f @ e Y 7
(A) TTh. A (B) EEIW  (C) W T® (D) T AHE T

Transfer of genetic information from one generation to the next generation
is by | _
(A) RNA (B) Protein (C) DNA (D) None of these

y@aﬁmamﬁmﬁtﬂaﬁz@ﬂtﬁaﬁﬁm Sk
(A) RNA (B) WH (C) DNA (D) T & P T

Ringworm is caused by -
(A) Bacteria  (B) Fungus - (C) Virus (D) Protozoa

FEUICEAE | |
(A) ssf@ (B) M (C) I~ (D) sﬁ-aa‘fan

| Ultraviolet rays can be used in water treatment as

(A) Precipitator (B) Hydrolyser. (C) D1s1nfectémt (D) Flocculator
Tl ¥ SR A e R T Iwm . AR w RS Esag )

(B) SEIUEF (C) HehHUIER (D) Foies

14



91.

92.

Earth is a '
A) Good reflector of heat.

B) Good absorber and good radiator of heat.

Bad absorber and bad radiator of heat.
None of these

(A) TR A T (B) v v s sk R
(©€) ST B G 9T i RfEE(D) 3 QT

Ina diesel engine the high temperature needed to ignite the fuel is achieved by
A) using heat from exhaust, gB) the battery.

compressing air in the cylinders. D) None of these

?m?ﬂm# & IS % T STavas I A g1 9T fepa
| .

W) RIMATIHIE  (B) b mE
(C) Tufervel o gam ¥ wdteq (D) 3 @ HIE T El‘%’:l
93.  Greenhouse effect is due to
| A) UV rays (B) Gamma rays (C)  X-rays (D) Infrared rays
TS 1 HIT 3 ‘
(A) UVRRTE  (B) mmifedl  (C) X (D) avaram ol
94. Which phenomenon established the transverse nature of light ?
(A) Reflection (B) Refraction (C) Diffraction (D) Polarization
ST <Al ST Wil Foher 71 grr wenfa e & 2 |
(A) W& (B) 39add (C) foada (D) gt
95. Instrument used to study the behaviour of a vibrating string is
(A) Hydrometer (B) Sonomct.er (C) Barometer (D) Hygrometer
Th SHiUd S o STAER o R H TgHT ST 3 | |
(A) Tgriir (B) ®RWEi  (C) ¥ (D) wedniie
96. Hydr bomb is based upon the principle of o
X 8%irérolled Nuclear Figsion ng Uncontrolled Nuclear Fission
gC} Controlled Nuclear Fusion D) Uncontrolled Nuclear Fusion
ETRgIoH W 36 g WA @ | o
UNRERIECEIREICREICES] (B) aﬁaﬁam&ﬁaﬁ@m
(C) Trafma afieh gem (D) b i NARE
! Yil)le aililiied acetic acid . gB% Glacial acetic acid
: EC) “Glacial formic acid ' (D) Diluted formic acid
(A) TIFA e 3wt . (B) %ﬂTﬁQ?ﬂﬁ'ﬂ?m
(C) femw wififeh 307 (D) TFHa ifHh A
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- 98.

.99,

100
101.
102.
| 103.

104.

10S.

Sphalerite is an ore of | ‘
(X) al\?Irerfn;ry %B) Molybdenum (C) - Zinc (D) Silver

Theltrge T 3FIh | .
(A) TGH  (B) Wi (©) SEnE (D) WEH

Ozone contains
E ; Onli\]r_ oxygen EB) Oxygen and nitrogen
ogen and carbon D) None of these

(A)%aaqmﬂtﬂ - - (B) S ST
(C) TTESISH TR FHa (D) FHIFETE .

The purest form of water in nature is - |
(A) Rain water (B) Lake water (C) River water (D) Sea water

Yhie B T Y[g I 2 _
A) sism  (B) @IS (C) W (D) WAEE

Which district of HL.P. has largest apple g)rodlilctloﬂ ? ; : y. St
Chamba D imla

(A) Kullu - (B) Kinnaur -

_%ﬂl’ﬂﬁﬁ%m%%ﬂﬁﬂﬁﬁﬂaﬁ :ﬂlﬁﬁnma‘m%

A) 31 ~ (B) fFR (C) w=1 (D) Rmem
Which district of H P. has lowest percentage of Scheduled Tribe population ?
(A) Una (B) Bilaspur . (C) Hamn'pur (D) Kangra
femmere rem 3 fomm ot i S <Bt ST 1 iorid T A 8 7

wwn @ FER © TR (©) e

Tamsar mountain pass connects Kangra with

(A) BaraBanghal (B) Gharwal  (C) Tibet (D) Chamba |
(A) ww ®) e . (©) ﬁm (D) =W
- Cholan eak is located in which mountain range of H.P. ?
A Sh1wa11k Range o B) Dhauladhar Range
%C% Pir Panjal Range (D) ZaskarRange
e feATeer e < o weia sjaren & R 7 |
(A) ﬁmﬁ% qwn . ® e »1@-3-11
(© R Ik (D) SR @
‘ -Khoksar is the first village of which valley of H.P. ?
(A) Chandra valley - (B) Hangsang Valley
(C) Chubarvalley = (D) Serajvalley
mmﬁfﬂraﬁ’rwmmﬁ%
(A) SFEE (B) AR A (C) ‘g’aﬂma‘l (D) A HE

Code No. : C-732/2021/Series-A

- 16



106.

Which is shortest river in H P.?

~ (A) Yamuna  (B) Beas | (©) Satluj - (D) Ravi

'mmﬁmmwwm%?
@I (B) W (C) WA (D) T

107.

108.

109.

110.

111.

112.

Which lake of H.P. is well known for ‘Floating Islands of seeds’ ?
(A) Renuka (B) Kalasaar  (C) Karali (D) Rewalsar

femreret s <6t o sfter st <sfteit ot e g % fof ST ST & 2
(A) W  (B) F@ER (C) A (D) W\eE

First BIP Government in H.P. was headed by

(A) Shanta Kumar (B) Prem Kumar Dhumial-

(C) " Jai Ram Thakur | /(D) None of these

_%wmamﬁwaﬁt?nﬂ m%m&mﬁ%ﬂ
(A) METHAR  (B) I FAR A (C) AT (D) sﬂﬁﬁraﬁiﬂé‘

H.P. launched e- governance plan called ‘HIMSWAN’ in which year ?
eemreret rew g 3- nﬁmaﬁam‘HIMSWAN’ﬁaaﬁg&ﬁné? |

(A) 2008 (B) 2010 (C) 2012 (D) 2015 =
In which year work of Rohtang tunnel pI'O_]eCt commenced ?
ﬁwmwﬁﬁwwmmﬁﬁsﬁ@n T

(A) 2005 (B) 2010 (C) 2014 - (D) 2017

Shri Hari Rai temple 18 located at wh1ch placeinHP.?
(A) Chamba  (B) Naggar (C) Rampur (D) Nalagarh

oft 50 T R R i fov v R R R ¢

(A) T (B) TR (©) TR (D) =rram-c;: |
Datarpur princely state was founded by -
(A) Datar Chand- ~ -~ (B) Jai Chand as?.@

- (C) Alam Chand . (D) Abhay Chand = ™
mmmﬁmﬁaﬂ -

113,

114,

wn  ®*  On oo

(A) gAREE . (B) SEEE (C) CﬂTFF:r?I‘q’ (D),m%ia'

Gaiety theatre was opened in Shimla in which year ?

ﬂtﬁﬁ?}zxﬁwﬁﬁmaﬁﬁgﬁm? :
(A) 1843AD. (B) 1865A.D. (C) 1883 A.D. (D) 1887 AD.

First-Vidhan Sabha of H.P. had how many members ?
%ﬂﬁamﬁwﬁmwﬁﬁmﬁwa 91

S—— —r— b S———— t——
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115.

116.

117.

118.

Who headed the interim government set up in H.P. in 1948 A.D: 7 .

(A) Jaiwant Ram (B) N.C. Mehta
(C) Dr.Y.S. Parmar (D) Shiva Nand Ramaul

1948 A.D. 3 fawreret wemr et AR HHR & remes i o 7
(A) SErEa T | (B) w4, Agam
(C) . 918.Td. TR (D) Rawe wie

Who mediated between Raja Sansar Chand and Jai Singh Ramgarhia to
settle their dispute over the ownership of Kangra fort ? -

(A) Maharaja Ranjit Singh (B) Guru Gobind Singh

(C) Amar Singh Thapa . (D) None of these

T R He 31 sraftie Tt & ot hirer feet % w@fica & faarg i dt

ey fena &1 7

(A) e e e | (B) T fie
(C) smfageamm (D) T & ¢ T
Malana — I hydroelectric project is constructed on which river of H.P. ?
(A) Ravi -  (B) Beas (C) Chenab (D) Satluj

- weT-T gttt aRET e sew <6 fee T e g 7
(A) Telt (B) =& (C) T (D) Hads
Which is the ‘Winter Sports Capital’ of H.P. ? v
(A) Naldehra  (B) Mashobra (C) Kufri (D) Narkanda
Tt TRy YdehTela Gl Tora S H R ? o

119.

120.

i p—

(A) TERET (B). W (C) FWU (D) e

Which is the most literate district of FLP. ? |
(A) Sirmour (B) Solan (C) Shimla - (D) Hamirpur
famreret wem 1w il Rren s w R 7

A) TR (B) HieH © fwem (D) T

Jhanjar is a folk dance of which district of H.P. ?

(A) Chamba  (B) Mandi  (C) Kimnaur (D) Lahaul-Spit
WWW%WmWﬁEw%?

) w1 (B) = ©) f=R (D) TR-whfy
o C-732/2021/Series-A 18 T



21.

122.

123.

124.

125.

126.

127,

———

Which is the
bank in India ?

(A) Equitas Small Finance Bank  (B) Jana Small Finance Bank

(C) Bandhan Small Finance Bank (D) Shivalik Small Finance Bank

T & H Wﬁ@?@ﬂﬂﬁmmﬁqmwwmﬂm%ﬁw%mw ?

(A) 3fRem wiTer wreaeg ¥ (B) S WA HIg-d b

(C) =741 e wig ¥ (D) Tranfers et s S%

Yanbu port, which was in news recently, is located in which country ?

(A) Afghanistan (B) Saudi Arabia (C) Sudan (D) Chad

Y TR, S ETer € F =it & oy, v dw A Ry R 7

(A) FHMEEH (B) ¥sdama  (C) geM (D) =TE

Deepika Kumari and Atanu Das, who were in news recently, are associated

with which sports ?

(A) Boxing (B) Wrestling - (C) Table Tennis (D) Archery
3TN 37T T, S &1el € == § 9, feg @ @ g § 2

(A) gFbaTit (B) Eh (©) fmfm (D) dfRerh

Albert. Pahimi Padacke has been recently named as the interim Prime
Minister of which country ?

Ist Small Finance Bank formed recently from a co-operative

(A) Zimbabwe g) Philj;gﬂ_iges (C). Chad (D) South Africa
ewe e T i BTt fohw w1 St werr wft e R w7
A) e (B) frefifim () =ms (D) <f&ror 3rshient
What was the theme of the “World Immunization Week 2021” ?

(A) Vaccines bring us closer (B) Vaccine Works

(C) Educate and Immunise (D) Vaccination Vacation

“Jos TARSE o1k 20217 i fm e ot -

(A) S f5im et - (B) S g g%

(C) Uhe WU FARS (D) S 33w

‘Mt. Annapurna’, which was in news recently, is located in which country ?
(A) India (B) Nepal — (C) Ban.gladesh (D) China

AR FAPT, Mg @A gadi A or, o qmad fRme s

(A) ¥Ra (B) e (C) Femwm (D) €=

World Youth Boxing Championship83 where Indian women won 7 gold
medals, were recently organized in which country ?

" (A) Russia (B) Poland (C) Ukraine (D) France

forvsr o gerperreht witrAifiraT, &1 R Wit wfgenatt ¥ 7 @l ves s, et
¥ frg 3w § @ F T 7 ‘ .
(A) &9 (B) TS (©) T (D) Wi

S s e, e, o, e,
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128. "Nimbus’ is a flagship cloud service project of which country 7

(A) US.A. (B) U.AE. (C) Japan (D) Israel
‘Nimbus® 38 <1 &1 T Jtuft Fermse dar wigiem @ 7
(A) 3T, (B) 3.ui, (C) S (D) T

129. What was the rank of India in the World Press Freedom Index, 2021 ?
forea et T et 2021  sTa i v =y oy 7
(A) 142 (B) 152 (©) 162 (D) 172

130. Which country recently launched its

first ever mega food park project in
India, at Fanidhar Gujarat ? |

(A) France (B) Israel (©) Italy (D) US.A.

LN E R Rk TR H ST &l 3T 5 Tiehs Sarere gorarer 3 ol g et 7

(A) W - (B) - TS (C) we=it (D) 3.EH.T
131. Fruit : Banana : : Mammal : ? ' .

(A) Cow (B) Snake (C) Fish - (D) Sparrow

W:%ﬁﬂ;:ﬁ?ﬂiﬁ:? | - ' '

(A) ™ . (B) ud C) weelt (D)
132. Which is different from the rest ? |

FavnmamatEd, |

(A) 7 B) 11 © 13 (D) 15
133. Missing terms in letter series are :

SER [T & H G :

¢_bba_cab_ac_ab. ac L |

(A) abcbe (B) acbcb | (C) babcee (D) becacb

134. How many pairs of letters are there in the word ‘HYPOTHESIS’ which
have as many letters between them as in the English alphabet ?

‘HYPOTHESIS’ ¥ # U8 Tt serdl % 52 €, s nen 3o & st 2 ey
HopA e ATETEE
(A) five/q®  (B) four/S  (C) three/d™ (D) two /@

135. n a certain code ‘TOGETHER’ is written as ‘RQEGRICT". In the same
code ‘PAROLE’ will be written as | _ ‘
fopeft e v # “TOGETHER’ %I férat Siten § ‘RQEGRICT”?, 3¢t %52 s
‘PAROLE’ & far@1 Smam -
(A) NCPQIG  (B) NCQPIG  (C) RCPQIK (D) RCTQNG

EaNo.: C732/2021/Series-A 20




_ 136. ;f "+’ means ‘x’, ‘-’ means ‘+’, ‘+’ means ‘+’ and ‘x’ means ‘—’, then what -
~ 1sthe value 0f 540 — 36 + 12 + 75 x 55 ? .
(A) 255 (B) 512 (C) 180 (D) None of these
qﬁ A 0, T ard ‘0 e’ T 7 b IR wr aref 0, @
340 ~36 + 12 + 75 x 55 %1 77 F1 BT 2 | | -

(A) 255 “(B) 512° . (C) 180 (D) FRHABETE
137. Abhinav walked 2 km west of his house and then turned south covering
4 km. Finally, he moved 3 km towards east and then again 1 km west. How

far is he from his initial position ? |

| I WY ufeam ) e 2 ff. e ai fe gl ot g
4 1.1, e & | sfaq: 7% g i 3 3 F. A, e ok R 1 6.3, o
3R T | I8 I YRATH W @ ot ggd 7 | o
(A) 2km/fEH  B) 4kmMEh  (C) 9km/MEH (D) 10 kn/Rh.H
138. Ketan takes casual leave only on first working day of every month. The
- office has weekly offs on Saturday and Sunday. In a month of 30 days, the
first working day happened to be Tuesday. What will be the day for his
next casual leave 71" a)'é~] § | - - |
(A) Wednesday (B)I" 'I'ﬁ’urs_ ay (C) Friday (D) Monday -
T W TN % T8 H fomw W & oM s wat 2 | wEie §
HTHTTEeh SFTH VAR T8 e i 8t & 130 faw & v wig & wgen &1
e TTeTaR 1 B § | 36 T SHCH FAFH F ARG 7 g
@) TR B) TR (©) WER (D) WEw e
139. In a class of 15 students, Kiran and Johar are ranked at equal. distances
from the top and the bottom respectively. Shashi is ranked exactly in
between the two. If Shashi is placed 8" from the top, what is Kiran’s rank
from the bottom ? oLt ' |
15 BT 6T Th HaT & FohTor SR et 5w & s6me: S/ 3R 2 & whemm g
W | R T 5 I I 6 S ST 4 8 | Il IR e s I A 8T R, AR
AfFOIm IR 7 o o
(A) 3 | o ®;s&s
S @© 100 | (D) Data inadequate / $21 3To=IiH
140. Pointing to a man, Rohit recalled, ‘He is the son of the mother of the father
- of my daughter’. How is Rohit related to.the man ? . ‘
(A) Cousin (B) Brother (C)  Nephew (D) Uncle
T et i T A G ART A e, qw A IR F R A AT RE

B e e e T S e
(A) FHE (B) W (© whw @)
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ut of the four

Directions : (Q. 141 to 145) Choose the correctly spelt word 0
ivfn ?X;m};;gfi;:{c& ((3B3)C Dﬁnigmatic (D) Enigmetick
' 142. (A) Chronicle (B) Chronical (C) Chronikal (D) Cronichle
143. (A) Inteligent (B) Intaligent  (C) Intelligent
144. (A) Compatibilty (B) Compatibility (C) Campatibilty (D) Campatibility
145. (A) Argument (B) Argumant (C) Arguement (D) Arguemant

(C) Enigmetic

(D) Inteligant

Directions : (Q. 146 to 150) Choose the most appropriate option out of the four |
given alternatives A, B, C and D to fill in the blank. |
146. The people, who depend _ others, can never prosper in life.

(A) on (B) over - (C) upon (D) on
147. He became the Governor of a province .

(A) little by little (B) by and large

(C) in course of time (D) at times

148. Heis definitely T
(A) wrongly (B) in wrong (C) inawrong (D) inthe wrong

149. He must - his bad habits, if he wants to join us.
(A) givein (B) giveoff (C) giveaway (D) give up

150. Heran ; SR
(A) quick (B) so quick (C) quickly (D) so quickly

Directions : (Q. 151 to 155) Choose the most appropriate option out of the four
alternatives A, B, C and D which is opposite in meaning to the given word.

151. Jeer |
(A) Mourn (B) Praise (C) Mock (D) Sneer

152. Unrealistic |
(A) Natural (B) Visionary (C) Reasonable (D) Actual

153. Culprit
(A) Jury

154. Hesitate
(A) Proud (B)

(B) Witness © Accused (D) Victim

Confident (C) Certain (D) Reluctant

155. Supervise

(A) Overlook (B) Misdirect (C) Neglect (D) Forget

B e L up—
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#79 (3. 156 & 160)
156.

157.
158.
159.
160.
161.

162.
163.
164.
165.
166.

167.

168.

169,

170,

(C) amH AT

(A) e SR(;)E %ﬁ%ﬁ
(A) Wﬁ'{ (B) 15&'-(
(&) 3 B) ¥
(A) @fifs (B) wfts
(A) e (B) wrede
TR T B

(A) o (B) wgsf
YEHT HT TRy -faede 2 |
(A) I: +=R (B) I +HR
T MR |
(A) W= (B) 3w
(A) ¥ifd  (B) IR
“Sh1Y” T Sgaa & |

(A) Y (B) hreft
‘P’ T fa9mor 8 | |
(A) T (B) Ffem
‘oo T 3uE B |
(A) 3 (B) 3@
‘a7ef” T FIET= 2

(A) 7 (B) TH
“Teer” o1 ferianef & ',
(A) 17 (B) g
“FRT WIS YETE 1 37 8

(A) Torelt ST e

(€) o

(D) shrTae=s
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